Code No.:10799 B Sub. Code : EMEC 12

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023.

First Semester
Economics — Core
STATISTICS FOR ECONOMICS -1
(For those who joined in July 2023 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. Csdrelgsmafle, Gaerallsarfler eragenfl&ens
<26 @(HEs Geuam(Hib.
(=) 5
() 10
(@) 50

()  elgmpememler  Crrssgens QL (PLbHS
cuenuiled GHOnae -



[

The number of questions in questionnaire should
be

@ 5
(b 10
(¢) 50

(d as small as possible keeping in view the
purpose of the survey

yarel@ue  eerp  auriiges  ‘euBLLLG  erenp
_ Qsroddmbs! Caremdlws.
(31) isleld (<) QogHen
(&) @&zl () &Grssbd

The word statistics is derived from the

___ word ‘Status’.
(a) English (b) Latin

(c) Italy (d) Greek
auasliuBSGIBD eI,
yerafleleurrisenar wrhsetler wHiysefer

SigLumLLld usUUOSHBD QG-
(@) yelwed siglue e

() ST SigouemLuile®

@) oeaysaiian SigLuemLwild

() uerysaier SigluemLuile
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P OREE—

classification refers to the
classification of data according to some
characteristics that can be measured.

(a) Geographical (b) Chronological

(¢ Quantitative (d) Qualitative

o0 GALACL OfefhE AsriyemLw e puyseer
aamaiisms opsn  Gfedler eram
SiHutiuBEns.

() smbeusr (<) Qungsb

(@) cTemeser (F)  @en_Qouafl

The number of observations corresponding to a
particular class is known as the of
that class.

(a) Frequency (b) Total

(¢) Limits ’ (d) Interval

eratey CsmlLperw ugeder el H&Esgrefl 40,
QeLpow 45 aafle, el yer wHiNmar sarssH

(1) 5 (<) 85
(@) s5 (F) 42.5

It is a moderately asymmetrical frequency
distribution, the values of mean is 40 and median
is 45, estimate the value of the mode

(@ 5 ® 85
() 55 : d 425
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@ FEET LFeuied
(=) sgrefl > Qe flave > W&H
() &grefl < Qe flea < wa@
(@) egrefl = Qe fleve = W& .
(F) &gnsfl > Qe Bleve < Wps®
In a symmetrical distribution
(a) Mean > Median > Mode
(b) Mean < Median < Mode
(¢) Mean =Median = Mode
(d) Mean > Median < Mode
syrefl = 79 wpmb HL Adessd = 8 erafld
wryeilflss Qs ereieuara)?
(=) 9.875 (<) 10.127
. (@) 632 (F) 71
When mean is 79 and standard deviation is- 8,
CV=
(&) 9.875 (b) 10.127
(© 632 @ 71
umauml wHmb Qsder Lblieild 2 erer
ghnssTpeler sarelenar L sEs 2 ga flmg).
(=) wrmurh
(@) fsped arevey ()  Qenyens euenatGaT(H

(=) wryeldseEtsey
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10.

is used in the study of the degree of
inequality in the distribution of income and
wealth.

(a) Coefficience of variation
(b) Variance
(¢) Measures of dispersion
(d) Lorenzcurve
20® wrildear wiuy PsNsEnd Gurg  wH
orfldear  wAuyd  oFsAoums
&\ dlenmg.
(=) GrilenL &LGﬁGgiTl_ﬁ'L.[
(=) afflen 2 L enQgmLimy
(@) Qsmiy Cursg
()  GprGsmi @ 2 Len@gmiy
implies that, as one variable is
increasing, the other is also increasing.
(a) Positive correlation

(b) Negative correlation

.(© Regression

(d) Linear correlation

Asm_iyuCunée ey, @uew(
T feTng).

(1) Qe Guwer 2 pedler satelenerns

(=) @ _Cuuwner syrsf 2 pelenars

(@) @oLCu 2 peldene erans

(m) Qe Guwnar 2 @new 2 pellenars

rHl&(@EnéEE
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11.

12.

Regression
between two variables.

(@)
(®)
(©
@

analysis reveals

—

degree of relationship
average relationship
no relationship
true relationship
PART B — (5 x 5 = 25 marks)

Answer ALL questions by choosing (a) or (b).

Each answer should not exceed 250 words.

()

(=4)

(1)

Cepigpss safluulL Guiy apob apsohaa

UGG ETE Ceafé@Eid papuiener
eflené @
Explain the method of collecting primary
data through ‘Direct Personal Interview’.

Or

@uanLmd flee daurhsd aomuep Csuig
Supap UuALOSgusHE YTy  TBEs
Cauamgw erdanéafsamasmer GHUNGS.

Define Secondary Data and mention the
precautions to be takes before using the
secondary data.

usUUBHSSISD GTETHmey
uasUUBSHGN e CrrésnsEmar gnys.

What is meant by classification? State the

GTEUTEN ?

- objectives of classification.

Or
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— —

(<) Neugrusenar QecueusiuLb HmID
St uaGarab gpab GHUGHS.

Ofley @erQouell  40.50 50-60 60-70 70-80 8O-

90
aneQeuer : 36 87 121 154 133
Gflay @er Qauafl  90.  100-  110-  120-
: 100 110 120 130
SieneQeue : 95 50 30 10
Represent the data in histogram and
frequency polygon.
Class Interval : 40-50 50-60 60-70 70-80 80-90
Frequency : 36 87 121 154 133
Class Interval : 90-100 100-110 110-120 120-130
Frequency : 95 50 30 10
13. (o Spssregmid  eNeurmsalldmps sl QEsynad
5mréaés\®a;.
wHOIQLeamEET : 0-10 10-30 30-60 60-100
wremeiaeT aanafléans: 5 12 25 8
Calculate arithmetic mean from the
following data.
Marks : 0-10 10-30 30-60 60-100

No. of students: 5 12 25 8

‘ Or
(<) Qe fleovouler Lwdamar cilaTéEs.
Explain the uses of median.
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14. (=) Spssrenibd AaurisEréE stowrer alessihn
wHpb s Qswelmans samsdDs.
wrerauisafier o wmb (@s.L5) 120 122 124 126 130 140 150 160

" wrevauiseilar eaerfidans: 1 3 5 7 10 3 1 1

Calculate Quartile Deviation and its
coefficient from the following data.
Height of students (in cms) : 120 122 124 126 130 140 150 160

No. of students : 1 3 5 7 10 3 1 1
Or

() &G QarUUL@EeT SHUDHEREE —&iTd
Wwieneflar GarlL&Qaw aarédl@H.

wduQueansedr : 25, 26, 25, 25, 20, 25, 30, 25,
14, 25

From the observation given below find out
Karl Pearson’s coefficient of Skewness.

Scores : 25, 26, 25, 25, 20, 25, 30, 25, 14, 25
15. (&) evQuivreflar greufleos o La@amiysdseyw
sam{Lig.
X:52534260454137 382527
Y :6568 4338 77 48 3530 25 50
Find out Spearman’s rank correlation

coefficient.
X:52534260 45 41.37 38 25 27

Y :656843 38 7748 35 30 25 50

Or
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16.

() 20 p®

(=) YGeaumd eNeugriger Qsr@ésuur Herers.

X=86,Y=85, 0,=11, 0,=8, r=0.66
Qre® OQsriiy Curéeé swetumRser
sam@llyss

Yar wdluy 75 <6 @mésw Gurs Xer
iU &res.

Given the following data.

X=86,Y=85,0,=11, 0,=8, r=0.66

Find the two regression equations and
estimate the value of X when Y =75.

PART C — (5 x 8 = 40 marks)

Answer ALL questions by choosing (a) or (b).

Each answer should not exceed 600 words.

(=) yemaflllweller Lwensedr LHML GepUTHS®ET

Gsefleuns eflarsgs.
Clearly explain the uses and limitations of
statistics.

Or

CacrelgsmEenss
Coenauwnarencusenar efleurd). 4

Discuss the requirements of ‘a good
questionnaire.
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17.

18.

(o) eSersstiuLtiseafer uoGeum UMESHET

afeundl.
Discuss the various types of diagrams.

Or
(<) @ I Laemamiar u@damer eleudl wHHID
yerenuQwe eleurhisener
S L auenamliBsWES s iquins
Mariigh fsamer snm.

Describe the parts of a Table and State the
rules that serve as a guide in tabulating
statistical materials.

(@) Gemau@mb oot UTasEE GoLblao
STEENS. :
9fley @enQeuaf : 30-32 32-34 34-36 36-38 38-40 40-42
f: 3 8 24 31 50 61
ey QeoQeuafl : 42-44 44-46 46-48 48-50
f: 38 21 12 2
Find Median for the following frequency

distribution.
Class Interval : 30-32 32-34 34-36 36-38 38-40 40-42
f: 3 8 24 31 50 61
Class Interval : 42-44 44-46 46-48 48-50
f: 38 21 12 2

Or
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(<) &Gy Qan@&sul@earer alaufms@sd Wwsh
sasS0.
wduQudrser : 50-53 53-56 56-59 59-62 62-65 65-68
wranauisdr aaraflsms 3 8 14 30 36 28
68-71 71-74 74-77

wremauisdr araeilsas : 16 10 5

wAHuQuenser

Calculate the mode for the data given below.
Marks : 50-53 53-56 56-59 59-62 62-65 65-68

No. of students: 3 8 14 30 36 28
Marks : 68-71 71-74 74-77
No. of students: 16 10 5

19. (&) Wemeumid NeuyrhisEsés sl (H&
syreMemhe #yref elawssh &ansd[Hs.

2w (Qg.15) : 158 159 160 161 162 163 164 165 166

puisefer aanefiéams : 15 20 32 35 33 22 20 10 8

Compute mean deviation from mean for the
following data.

Height (cm): 158 159 160 161 162 163 164 165 166
No.of persons: 15 20 32 35 33 22 20 10 8

Or
(=) &G Qar@ésuul L dNeughsEpée S
e&sbd sansd (.
Gfay : 0-10 10-20 20-30 30-40 40-50 50-60 60-70
smoQousr: 8 12 17 14 9 7 4
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20.

Class:

Calculate standard deviation for he data
given below.
0-10 10-20 20-30 30-40 40-50 50-60 60-70

Frequency: 8 12 17 14 9 7 4

(1)

o LG Qs imYler ueGeum UGN &GN 6T
o FryasgiLen cileurl.

Describe the various types of correlation with
examples.

Or

X opmid Y 6r earss FSMwng 44 wHmibd 26
U uweru@sd Wereumd  eSleurriseatledlmba)
sried Qwisreflar o LeanGariys GCaspeilenens
GeTS&S (.

X :43 44 46 40 44 42 45 42 38 40 42 57

Y :293119 1819272729 413026 10

Calculate the Karl Pearson’s coefficient of
correlation from the following data using 44

and 26 respectively as the assumed mean of
Xand Y.
X :43 44 46 40 44 42 45 42 38 40 42 57

Y :293119 1819 27 27 29 41 30 26 10
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